


_ YnpocTuTe BbipaXeHUs

25x + I5x = 40x

19p - p = 18p
8c +c = 9c
12y — 4y = 8y

Ix +9x —4x = Il4x



_ PewunTte ypaBHeHUs

87—x=39;, x=48

yt+24=43; y=19
x—43=38;, x=281

48x =96, x=2

2x+3x=25;, x=95



OTtragpanTe Ha3BaHue LBeTKa

1) 85137 - 75137

2) 78214 - 78204

3) 65-21 +21-35

4) 13-201 + 99-13 + 85
P 5)15+15-7

6) 0:164-7

210-M 5005 -E 1148 - A 780 - H 3985 - WU 120 - bl
330-K 0-4/ 2100 - A [1645-T1 14820 - B/ 1370 - J1
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" 10-(40 + x) = 450 *






[MopsaaokK BbINONTHEHNA OEeUCTBUN

() (3) (2) (4) (5) (7) (6)

(17613 : 57 — 18690 : 89) - 405 :45—-170 -3
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